50

hydraulics’
YEARS

since 1970

Accumulator Discharge
Solutions

Powered by Sun QuickPrint,
your on-demand, customized catalogue solution.

This information is subject to change without notice. Visit www.sunhydraulics.com for complete and up to date information.

© 2021 Sun Hydraulics



920

YEARS Table of Contents

hydraulics’

since 1970

YCFE Accumulator discharge
assembly

YCFO Accumulator discharge
assembly

YCHE Accumulator discharge
assembly



hydraulics’ 50

since 1970 | YEARS

Cavity Information

Series Ports Cavities
Series Z Cartridges 8-Port T-382A
3/8-24 UNF Cartridge Thread
5 mm Valve Hex Size
11 - 14 Nm Valve Installation Torque
Series P Cartridges i oeen) L
M16 Cartridge Thread 3-Port P T9A
22,2 mm Valve Hex Size
27 - 33 Nm Valve Installation Torque

. . 2-Port T-162A
Series 0 Cartridges >-Port (Deep) T162DP
M16 Cartridge Thread 3-Port T-150A
19,1 mm Valve Hex Size 3-Port T-163A
25,4 mm Valve Hex Size 4-Port T-30A
27 - 33 Nm Valve Installation Torque
Series 1 Cartridges o A
M20 Cartridge Thread 3-Port T-11A
22,2 mm Valve Hex Size 4-Port T-21A
41 - 47 Nm Valve Installation Torque 4-Port T-31A

6-Port T-61A
Series 2 Cartridges i o
1"-14 UNS Cartridge Thread 3-Port T-2A
28,6 mm Valve Hex Size 4-Port T-22A
61 - 68 Nm Valve Installation Torque 4-Port T-32A
4-Port (Dual path) T-52AD
6-Port T-52A
6-Port T-62A
Series 3 Cartridges i e
M36 Cartridge Thread 4-Port T-23A
31,8 mm Valve Hex Size 4-Port T-33A
203 - 217 Nm Valve Installation Torque 4-Port (Dual path) T-53AD
6-Port T-53A
6-Port T-63A
Series 4 Cartridges 2-Port 1A
i g 2-Port (Undercut) T-18AU
M48 Cartridge Thread 3-Port T-19A
41,3 mm Valve Hex Size 3-Port (Undercut) T-19AU
474 - 508 Nm Valve Installation Torque 4-Port T-24A
4-Port (Undercut) T-24AU
4-Port T-34A
4-Port (Dual path) T-54AD
6-Port T-54A
6-Port T-64A



. | MODEL Accumulator discharge assembly
hydraulics | ycqc CAPACITY: 160 L/min.

sunhydraulics.com/model/YCFE

Al — v Ao 4,66 (118,31
| 400 (101,60
< |
| ! Al A2
|
PO T T
Sk @nwrmits
YCFE-XCN-AK
<JATE CODE=-
P T
S0 2T O O 50 12T
0 I-_ _-I
6= = || s =
66 (16.7) = - -4 = =
This assembly will automatically discharge an accumulator through a 0.125 inch orifice whenever the pump is shut
off. Whenever the pump is started, the pilot-to-close check valve closes, blocking the discharge path back to tank.
The standard check valve prevents oil in the accumulator from back-flowing through the pump.
TECHNICAL DATA
Body Type Line mount
Mounting Hole Diameter 10,4 mm
Mounting Hole Depth Through
Mounting Hole Quantity 2

NOTES *® /mportant: Carefully consider the maximum system pressure. The pressure rating of the manifold is dependent on the manifold material, with the port
typelsize a secondary consideration. Manifolds constructed of aluminum are not rated for pressures higher than 3000 psi (210 bar), regardless of the port
typelsize specified.

o For detailed information regarding the cartridges contained in this assembly, click on the models codes shown in the Included Components tab.

© 2021 Sun Hydraulics 10f6



. | MODEL Accumulator discharge assembly Continued f
@'“:I':"E"J'":5 YCEE CAPACITY: 160 Limin, previous page

OPTION SELECTION EXAMPLE: YCFEXCNAK

PRIMARY CARTRIDGE CONFIGURATION

CONTROL (X) CRACKING PRESSURE (C) SEAL MATERIAL (N)

X_Not Adjustable [N BumaN |
A 4psi(0,3 bar) V Viton

PRIMARY CARTRIDGE (A)

A A (with CXFA primary cartridge, Free flow nose to side check valve)

PORT DESIGNATORS (K)
Modifiers Ports
K, KIS Ports P, T, A1, A2: SAE 10;
A AS Ports P, T, A1, A2: 1/4" NPTF;
B, BIS Ports P, T, A1, A2: 3/8" NPTF;
C,CIS Ports P, T, A1, A2: 1/2" NPTF;
D, D/S Ports P, T, A1, A2: 3/4" NPTF;
I, 1IS Ports P, T, A1, A2: SAE 6;
J, JIS Ports P, T, A1, A2: SAE 8;
L, LS Ports P, T, A1, A2: SAE 12;
T,TIS Ports P, T, A1, A2: 1/4" BSPP;
U, uis Ports P, T, A1, A2: 3/8" BSPP;
V, VIS Ports P, T, A1, A2: 1/2" BSPP;
W, W/S Ports P, T, A1, A2: 3/4" BSPP;
MATERIAL DESIGNATOR No modifier - inch, aluminum IS - Inch, Ductile Iron IM - Metric, Aluminum IT - Metric, Ductile Iron
INCLUDED COMPONENTS
Part Description Quantity
COFAXAN Cartridge 1
CXFAXCN Cartridge - Primary 1

© 2021 Sun Hydraulics 20f6



. | MODEL Accumulator discharge assembly
hydraulics | crq CAPACITY: 160 L/min.

sunhydraulics.com/model/YCFO

off. Whenever the pump is started, the pilot-to-close check valve closes, blocking the discharge path back to tank.

s The standard check valve prevents oil in the accumulator from back-flowing through the pump.

Q125IN 1| ==

|
Al v (J) [¥]
v TA i This assembly will automatically discharge an accumulator through a 0.125 inch orifice whenever the pump is shut
|
|
|
|
|
|
|
|
|
|

I
O | -
cxra [, |2 1 N COFO
T [Ny - T-2A
1 [ X
BODY ORIFICE 2

| ToazsIN
P ¢

TECHNICAL DATA
Body Type Line mount
Mounting Hole Diameter 10,4 mm
Mounting Hole Depth Through
Mounting Hole Quantity 2

NOTES © /mportant: Carefully consider the maximum system pressure. The pressure rating of the manifold is dependent on the manifold material, with the port
type/size a secondary consideration. Manifolds constructed of aluminum are not rated for pressures higher than 3000 psi (210 bar), regardless of the port
type/size specified.

o For detailed information regarding the cartridges contained in this assembly, click on the models codes shown in the Included Components tab.

© 2021 Sun Hydraulics 30f6



. | MODEL Accumulator discharge assembly Continued f
@'“:I':"E"J'":5 YCEO CAPACITY: 160 Limin, previous page

OPTION SELECTION EXAMPLE: YCFOXCNAL

PRIMARY CARTRIDGE CONFIGURATION

CONTROL (X)  CRACKING PRESSURE (C)  SEAL MATERIAL N)
X Not Adjustable C 30 psi (2 bar) [N BunaN ]
A 4 psi (0.3 ban) E EPDM
B 15 psi (1 bar) V Viton

D 50 psi (3,5 bar)
E 75 psi (5 bar)
F 100 psi (7 bar)
PRIMARY CARTRIDGE (A)
A A (with CXFA primary cartridge, Free flow nose to side check valve)

PORT DESIGNATORS (L)
Modifiers Ports
L, L/S Ports P, T, A1, A2: SAE 12;
A NS Ports P, T, A1, A2: 1/4" NPTF;
B, B/S Ports P, T, A1, A2: 3/8" NPTF;
C,CIS Ports P, T, A1, A2: 1/2" NPTF;
D, DIS Ports P, T, A1, A2: 3/4" NPTF;
1,1/S Ports P, T, A1, A2: SAE 6;
J,Jis Ports P, T, A1, A2: SAE 8;
K, KIS Ports P, T, A1, A2: SAE 10;
T,T/S Ports P, T, A1, A2: 1/4" BSPP;
u,uss Ports P, T, A1, A2: 3/8" BSPP;
V, VIS Ports P, T, A1, A2: 1/2" BSPP;
W, W/S Ports P, T, A1, A2: 3/4" BSPP;
MATERIAL DESIGNATOR No modifier - inch, aluminum IS - Inch, Ductile Iron IM - Metric, Aluminum IT - Metric, Ductile Iron
INCLUDED COMPONENTS
Part Description Quantity
COFOXDN Cartridge 1
CXFAXCN Cartridge - Primary 1

© 2021 Sun Hydraulics 40f6



Accumulator discharge assembly
CAPACITY: 320 L/min.

Al

AL GRIFICE

3,91 (150,00

5.00 (127.0) | 1

sunhydraulics.com/model/YCHE

Al @nmraul ics

YCHE-XCN-AN
<DATE CODE=-

O

A2

O

0
ik Il
AT U1

4,25 1108.0)

This assembly will automatically discharge an accumulator through a 0.125 inch orifice whenever the pump is shut
off. Whenever the pump is started, the pilot-to-close check valve closes, blocking the discharge path back to tank.
The standard check valve prevents oil in the accumulator from back-flowing through the pump.

TECHNICAL DATA
Body Type Line mount
Mounting Hole Quantity 2

NOTES * /mportant: Carefully consider the maximum system pressure. The pressure rating of the manifold is dependent on the manifold material, with the port

type/size a secondary consideration. Manifolds constructed of aluminum are not rated for pressures higher than 3000 psi (210 bar), regardless of the port

typelsize specified.

o For detailed information regarding the cartridges contained in this assembly, click on the models codes shown in the Included Components tab.

© 2021 Sun Hydraulics

50f6



. | MODEL Accumulator discharge assembly Continued f
@'“:I':"E"J'":5 YCHE CAPACITY: 320 Limin. previous page

OPTION SELECTION EXAMPLE: YCHEXCNAN

PRIMARY CARTRIDGE CONFIGURATION

CONTROL (X) CRACKING PRESSURE (C) SEAL MATERIAL (N)

X_Standard Pilt [NBuaN |
A 4psi(0,3 bar) V Viton

PRIMARY CARTRIDGE (A)

A A (with CODA primary cartridge, Pilot-to-close check valve)

PORT DESIGNATORS (N)
Modifiers Ports
Ports P, A1, A2: SAE 20; Port T: SAE 8; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
5, 5/S Ports P, A1, A2: 1 1/4" Code 62; Port T: SAE 8; Mounting Holes: .375 - 16UNC x .62 DP;
5M, 5T Ports P, A1, A2: 1 1/4" Code 62; Port T: 1/2" BSPP; Mounting Holes: M10 x 1.5-6H x .62 DP;
6, 6/S Ports P, A1, A2: 1 1/2" Code 62; Port T: SAE 8; Mounting Holes: .375 - 16UNC x .62 DP;
6/M, 6/T Ports P, A1, A2: 1 1/2" Code 62; Port T: 1/2" BSPP; Mounting Holes: M10 x 1.5-6H x .62 DP;
8, 8/S Ports P, A1, A2: 2" Code 62; Port T: SAE 8; Mounting Holes: .375 - 16UNC x .62 DP;
8/M, 8/T Ports P, A1, A2: 2" Code 62; Port T: 1/2" BSPP; Mounting Holes: M10 x 1.5-6H x .62 DP;
D, D/S Ports P, A1, A2: 3/4" NPTF; Port T: 1/2" NPTF; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
E,E/S Ports P, A1, A2: 1" NPTF; Port T: 1/2" NPTF; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
F, FIS Ports P, A1, A2: 1 1/4" NPTF; Port T: 1/2" NPTF; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
L, L/S Ports P, A1, A2: SAE 12; Port T: SAE 8; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
M, M/S Ports P, A1, A2: SAE 16; Port T: SAE 8; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
P, PIS Ports P, A1, A2: 1" Code 61; Port T: SAE 8; Mounting Holes: .375 - 16UNC x .62 DP;
PIM, PIT Ports P, A1, A2: 1" Code 61; Port T: 1/2" BSPP; Mounting Holes: M10 x 1.5-6H x .62 DP;
Q Q8 Ports P, A1, A2: 1 1/4" Code 61; Port T: SAE 8; Mounting Holes: .375 - 16UNC x .62 DP;
M, QIT Ports P, A1, A2: 1 1/4" Code 61; Port T: 1/2" BSPP; Mounting Holes: M10 x 1.5-6H x .62 DP;
R,R/S Ports P, A1, A2: 1 1/2" Code 61; Port T: SAE 8; Mounting Holes: .375 - 16UNC x .62 DP;
RIM, RIT Ports P, A1, A2: 1 1/2" Code 61; Port T: 1/2" BSPP; Mounting Holes: M10 x 1.5-6H x .62 DP;
S, SIS Ports P, A1, A2: 2" Code 61; Port T: SAE 8; Mounting Holes: .375 - 16UNC x .62 DP;
SIM, SIT Ports P, A1, A2: 2" Code 61; Port T: 1/2" BSPP; Mounting Holes: M10 x 1.5-6H x .62 DP;
W, WIS Ports P, A1, A2: 3/4" BSPP; Port T: 1/2" BSPP; Mounting Port: .41 DIA (10,4 mm) THROUGH;
X, XIS Ports P, A1, A2: 1" BSPP; Port T: 1/2" BSPP; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
Y, YIS Ports P, A1, A2: 1 1/4" BSPP; Port T: 1/2" BSPP; Mounting Holes: .41 DIA (10,4 mm) THROUGH;
MATERIAL DESIGNATOR No modifier - inch, aluminum IS - Inch, Ductile Iron IM - Metric, Aluminum IT - Metric, Ductile Iron
INCLUDED COMPONENTS
Part Description Quantity
CODAXCN Cartridge - Primary 1
CXHAXCN Cartridge 1

© 2021 Sun Hydraulics 6 of 6



smart SOLUTIONS for
DEMANDING applications

Sun Hydraulics Headquarters
Sarasota, Florida USA

(1) 941 362 1200
suninfo@sunhydraulics.com

Sun Hydraulics Korea Corp.
Incheon Korea

+82 3281 31350
sales@sunhydraulics.co.kr

©2017 Sun Hydraulics Corporation

www.sunhydraulics.com

Sun Hydraulics Limited
Coventry England
+44 2476 217 400
sales@sunuk.com

Sun Hydraulics China Co. Ltd.

Shanghai PR. China
+86 2151 162862
sunchinainfo@sunhydraulics.com

Sun Hydraulik GmbH
Erkelenz Germany

+49 2431 80910
sales@sunhydraulik.de

Sun Hydraulics Corp. (India)
Bangalore India

+91 8028 456325
sunindiainfo@sunhydraulics.com

Enovation Controls, LLC
A Sun Hydraulics Company
Tulsa, OK USA

Ph: (1) 918-317-4100

High Country Tek, Inc
A Sun Hydraulics Company
Nevada City, California USA
(1) 530 265 3236
info@HCTcontrols.com



	Cover Page
	Table of Contents
	Cavity Information
	YCFE
	YCFO
	YCHE
	Back Cover

